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Assessment 1: 1.1, 1.2, 1.3 (49 MARKS)
1.1 Types of organisations and the environments in which they operate.
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1.2 How size, purpose and sector have an impact on organisations.
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1.3 The economic, social, and environmental impacts of organisations.
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1.3 The economic, social, and environmental impacts of organisations.
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Considering the financial information and stakeholder perspectives described in Item A, evaluate whether Jana should try to secure a contract with the supermarket. (20 marks)
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Reading list

=  TVQ Business Marketing Specimen question paper# Competitiv... 3 /20 — 100% +

[1 mark]

UK businesses are most likely to react to a change in the UK to USA currency
exchange rate, from £1:$1.45 to £1:$1.55, by:

A Selling fewer products to the USA
B Buying fewer products from the USA
C Selling more products to the USA

D Selling fewer products in the UK
[1 mark]

A business that has gained a competitive advantage is most likely to:

A Charge prices similar to those of competitors

B Reduce the quality of products sold
C Reduce the number of staff it employs

D Sell products not offered by competitors
[1 mark]

Market nichers are more likely to survive in a competitive market if they:
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One role of marketing is to:

A Increase organisational efficiency
B Improve staff motivation
C Satisfy customers

D Enhance internal communications

[1 mark]

A fashion retailer, aiming to improve its customer retention, is most likely to:

A Employ fewer sales staff

B Reduce the price of items that are not selling well
C Encourage sales staff to sell more items
D Offer discounts to customers making repeat purchases

[1 mark]
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A Type here to search

Internal marketing is important to the success of any business because:
A Advertising can help to communicate product benefits
B Employees can influence customer attitudes to the business
C Employees are motivated by money
D The marketing mix should be adapted to meet customer needs
[1 mark]
A business is planning to enter a new foreign market. The marketing department will
need to share information with other departments because it needs to:
A Gather information about the foreign market
B Reduce costs of production
C Develop a coordinated marketing mix
D Increase sales

[1 mark]

Which of the following is an element of the macro marketing environment?
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[1 mark]

A business is planning to enter a new foreign market. The marketing department will
need to share information with other departments because it needs to:

A Gather information about the foreign market
B Reduce costs of production
C Develop a coordinated marketing mix

D Increase sales
[1 mark]

Which of the following is an element of the macro marketing environment?

A Suppliers

B Customers

C Equipment

D Social
[1 mark]

Which of the following is an example of a personal influence on the consumer
decision making process?
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A change in the UK to Euro currency exchange rate, from £1:€1.1 to £1:€0.9,
is most likely to result in UK businesses:

A Buying fewer products from Eurozone countries

B Selling fewer products to the USA

C Buying more products from Eurozone countries ©

D Selling fewer products to Eurozone countries =
[1 mark]

Consumers’ environmental concern about the pollution created by cars is most
likely to:

A Increase the demand for cars

B Increase the demand for petrol

C Increase the demand for electric-powered cars

D Reduce the demand for bicycles
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TVQ Business Question paper Unit 1 January 2018

exchange rates are stable.

gross domestic product has increased.

interest rates have increased. <

unemployment has increased. (=)

[1 mark]

The table below shows consumer spending ($ billion) in three countries
(X, Yand 2)

Year Country X Country Y Country Z
2015 1000 500 100
2016 1200 540 85
2017 1100 560 102

The table shows that, between 2015 and 2017, the percentage growth in
spending was:

A lowest in country X.

B highest in country X

C highest in country Y.

D highest in country Z
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D ‘Operating costs fell by 5% in 2017".

Which of the following features of a country would attract businesses to locate
within it?

A Government spending is low.

B Levels of pollution are high.

C Transportation links are limited. =

D Wage rates are low. o

[1 mark]
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The table below shows monthly consumer spending on products X and Y by age box
groups A and B.

Age group A | Age group B
Product X £6.0 million £9.5 million
Product Y £8.5 million £4.0 million

The table shows that
[1 mark]

A age group A spent less than age group B.

age group B spent more on product X than on product Y.

product Y increased its sales to age group A.

product Y sold more than product X.

The table below shows the £:$ exchange rate on two dates.
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Café Culture (CC), originally located in the South of England, expanded into the
Midlands during the second half of 2017. It aims to offer an excellent customer
experience in its 39 cafés.

CC employs managers to oversee operations. It has five experienced managers
in the South. In June 2017 two managers were appointed for the Midlands.

CC has carried out a review of customer experiences and staff and regional
manager performances. It has finance for training, but does not plan to appoint
any additional staff or managers.

Region Cafés Customer Staff Manager
experience | performance | performance

South 25 Excellent Excellent Excellent

Midlands 14 Good Satisfactory Good

Use the information above to analyse how Café Culture (CC) should manage its
human resources across its regions.
[6 marks]
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SPECIMEN MATERIAL - COMPETITIVE BUSINESS ENVIRONMENT

A leisure centre aims to achieve a customer satisfaction rating of 95% from its
members. The manager has reviewed the latest ratings and is concerned to find that
this has declined from an average of 98% in 2012 to 85% in 2013. They have the
following data available to them.

Investment in
Year | equipment and Number of staff Number of Annual

facilities employed members membership fee
2011 £20 000 30 2000 £300

2012 £70 000 35 2400 £320
2013 £50 000 35 3000 £330

Use the data to analyse the importance to the leisure centre of managing physical and
human resources.

[6 marks]
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The percentage change in the UK consumer price index (CPI), between 2009 and
2016, is shown below.
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Use the information above to analyse the trend in UK inflation between 2009
and 2016,

[6 marks]
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Read tom A and ren answer quesion (117
oA
Indian Moon Lia

Incian Moon s owned and run by the Kapoor famiy as a private imited company. It has been
rading since 1970, operates si restaurants and has a reputaon for authenic and high qualy
cusine. The business prides iselfon looking after fs employees by providing raining, a profit
sharing scheme and the opportunity o buy shares i the business.

1n 2015 Jana Kapoor took over as managing director. She wanfed o expand the business but
thought that there was too much competiion to open more restaurants. Indian Moon diversified
into providing chilled meals for catering outlets troughout the area. These meals were made in
the restaurants outside of opening hours. This way the use of the resources of the business was.
maximised. Before this diversificaon the business had not had any frade receivables (debiors).
Incian Moon was able t increase the number of employees.

‘Table 1: Indian Moon selected financial rafios

Ratio s00417 s004/16
‘Operating profit margin (%) 240 366
Retur on Capital Employed (%) 1277 2071
‘Acid-est ratio 114 088
Trade receivables (debtor)collection period (days) 3550 w202
Trade payables (credior) payment period (days) a7t 5330

Aithough proviing the chiled meals has been difficult to manage, Jan s keen fo corfinue to
‘expand the business. Indian Moon has won a national Best Indian meal’ competion. Favourable
publicity has led to an opportuniy to supply chilled meals in the local area for a supermarket chan,
for a trial period. I this is successiul t ould lead f0 2 profitable coniract.

‘Some directors feel that the businessis not ready for a contract with the supermarket and have
‘warned that v
« supermarkets can take a long time to make payments

« the business wil not be able 1o prepare the quantiy needed

« itwould mean an expensive oulay on more facilties

«  inthe past, suppliers have gone out of business if a supermarket cancels s orders.

Market information sugges's that sales of Indian chilled meals wil remain stable. Competifon is
‘expected 1o come from ‘meal ki, where ingredierts are provided to allow meals to be prepared at
home.
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